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The Triangle Inequality Theorem

The sum of the lengths of any two sides of a
triangle must be greater than the third side.
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Suppose we know the lengths of two sides of 2
triangle, and we want to find the "possible”
lengths of the third side.

According to our theorem, the following 3 statements must be true:

+x>% 5+9>x x+9>5
So.x>4 So.14>x So,x>-4
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Putting these statements together, we get that x must be greater than 4, but less than 14. So
any number in the range 4 <x< 14 can represent the fength of the missing side of our tnangle.




